B 4% 1 # # 886-3-5753170
% ) HL T (i) 86-21-34970699
45 J7 LTGR4I 86-T55-83298787

"‘“HI".'SI] it Py L0l com: b

E E
fi- fi
7 K

A 1B #E scusass
EIE g

B3 0B #E8 scuass
BEE mm

EE (B M8 s

B
C |
D T 4 2
; M5LL )
D) =
$ , <|u] £ waraenrnnng
- / a | WL
5 FEN)
A T A B C D 2 E
B K R | PHET | 1
SP-03H M 3X0.5 10 10 1.5 1.0 0.5~ 3 | —FAE+] 102
SP-04H M 4X0.7 12 12 2.0 1.6 2 ~ 10 | —F#IHHA| 102
SP-05H M 5X0.8 20 20 3.0 2.0 4 ~ 20 PW—05 102
SP-06H M 6X1.0 25 25 3.0 2.5 8 ~ 30 PW—06 102
SP-08H M 8§X1.25 25 25 4.0 B\ 8 ~ 30 PW—08 102
SP-10H MIOX1.5 30 30 5.0 3.8 10 ~ 50 PW—10 110
SP-12H M12X1.75 30 30 5.0 5.5 10 ~ 50 PW—12 120
SP-12-10H |MI12X1.75 43 35 10.0 5.5 7 ~ 40 PW—12 154
SP-16-10HS | M16X2.0 50 35 10.0 8.0 20 ~100 PW—16 170
SP-16-10H |M16X2.0 60 35 10.0 8.0 27 ~ 80 PW—16 204
SP-16-15H |Ml16X2.0 60 35 15.0 8.0 15 ~ 80 PW—16 204
SP-16-20H |M16X2.0 85 35 20.0 8.0 17 ~ 80 PW—16 254
SP-16-30H |M16X2.0 125 35 30.0 8.0 20 ~ 80 PW—16 382
SP-16-40H |M16X2.0 125 35 40.0 8.0 20 ~ 80 PW—16 580
SP-16-50H |Ml16X2.0 155 35 50.0 8.0 30 ~100 PW—16 660
SP-16-60H |M16X2.0 155 35 60.0 8.0 20 ~ 80 PW—16 840
SP-16-70H |M16X2.0 200 35 70.0 8.0 30 ~150 PW—16 990
SP-16-80H |M16X2.0 200 35 80.0 8.0 30 ~150 PW—16 990
SP-24-15H |M24X3.0 60 45 15.0 10.0 40 ~200 PW—24 396
SP-30-20H |M30X3.5 70 45 20.0 15.0 50 ~300 PW—30 600
B = (Ex. B
. EIESE S P 46 o HEL iR HITES
< INZ0.102Kgf SP-03H

vz

B TEEHE



user
新建印章


